Calcul Mental
(Serie de 20 calculs)



57 + 99 =



67 + 101 =



147 - 99 =



157 - 101 =



70 x 60 =



90 X 7 =



4 x 107 =



2 X 99 =



Le triple de la moitie de 12 ?



10

Le tiers du double de 12 ?



97 + 25 + 3 + 75 =



98 +103 +2-3=



25 X7 x4 =



120 : 20 =



225 +76 - ? =300



70x ? =630



17

6 est la moitie du triple de ?






2 74




7?76




Correction



57 + 99 =



67 + 101 =



147 - 99 =



157 -101 =



70 x 60 =



90 X 7 =



4 x 107 =



2 X 99 =



Le triple de la moitie de 12 ?



10

Le tiers du double de 12 ?



97 + 25 + 3 + 75 =



98 +103 +2-3=



25 X7 x4 =



120 : 20 =



225 +76 -1 =300



70 x 9 =630



17

6 est la moitie du triple de






2 74







